Grade 4 English Worksheet: Singular and Plural_2

(DifficultyLevel: Intermediate)

Name:

Date:

ORCHIDS

The International Schaol

Multiple-Choice Questions (MCQs):

1.

Which is the correct plural of “tomato”?
a) Tomatoes

b) Tomatoes

c) Tomatos

d) Tomatoe

What is the plural of “bus”?
a) Busses

b) Buses

c) Bus

d) Buss

What is the correct plural of “knife”?
a) Knives

b) Knifes

c) Knivies

d) Knifees

What is the plural of “child”?
a) Children

b) Childs

c) Childeren

d) Childrens

Which sentence has a singular noun?
a) The apples are delicious.

b) The dog barks loudly.

c) The teachers are helpful.

d) The children played outside.




Form of Line Changing Questions:

1.

Change the sentence to plural form:
The dog is running in the yard.
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Change the sentence to singular form:
The buses are parked outside.

Change the singular noun to plural:
The man is reading a book.

. Change the plural noun to singular:

The trees are tall.

Change the sentence to use plural nouns:
The teacher is explaining the lesson.
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